TR2SERE BREREERTRR

A H A = 2 H & %
4818H mhHE (THEMER) EESFH F = 10,000 M
58228 FOIMEMBK ISR EFKKRKEERE ERE 3,000 M
58268 R—hL—XIREE FHfELE T 18,690 M
68188 EHEERERSHIG ISR EBISHRES BEE 10,000 FH
6H28H REZERTHRHAE HELE tE 12,180 A
7H2H HWEZESITHHRE HELE tTE 14,664 M
7H268 XBZERITHHRE HMLE T 12,072 H
8H24H 5270 EATEERKGRARERE ERE 3,000 M
8H24H ELEEZERITRAE ARLE T 6,036 M
9A2H~168 |EAHmAI1HER HEESHE BE= 55,000 [
9A23H |mwima®e HEAT BE 10,800 F
9A238 |zti#s#s HEEH ik 10,000 A
10208 |nti#s#s HEEw BE 10,800 F
10208 |zhimsss #@sd ik 10,000 F4
10A31E  |@#E8arBiRs SHELE TE 6,036 H
1228 |ga0teSCYiE R MR ASBES R E 6,400
1228 |F X8 (h<h<T—4-2DL 8- EAt—L) G 12,000 F3
2H248 BHFOVUEEHE -BENANE(R)ERE BRE ERE 4,077 H
3A21H  |wnwi#sse CHFEHEFH HE 5,000
At 219,755 A




